

District School Board of Pasco County

Bid Recommendation

Bid Title	JANITORIAL EQUIPMENT MAINTENANCE DEPT.	Number of Vendors Notified	140
Bid Number	07-003-GF	Number of Bids Distributed	40
Date Solicited	03/10/2006	Number of Vendors Responding	16
Date Opened	04/05/2006	Number of Vendors Not Bidding	24
Date Board Presentation	05/16/2006	Number of Vendors Bidding	16
Total Savings	\$39,506.90	Grand Total of Bid	\$83.405.30

Recommendation: Recommend acceptance of bids as noted on attached bid tabulation sheet as lowest and best bids meeting written specifications.

Term of Contract: The bid is for the Central Warehouse's annual stock of janitorial equipment to be used throughout the District.

Notations and Exceptions: All items not awarded to the low vendor are rejected for one or more of the following reasons: 1) If alternate is bid, written specifications must be submitted with bid documents, 2) sample required, 3) failed committee testing.

JE-30: Recommend rejection of all bids. Janitorial committee requested a specification change after bid opening. Request permission to purchase on the open market.

JE-41: Recommend rejection of all alternates submitted for failure to meet bid specifications. No sample was submitted for product specified as required in bid documents. Request permission to purchase on open market.

DATE/TIME:

Notations and Exceptions:

JE-47: Recommend rejection of all alternate submitted for failure to meet bid specifications. No sample was submitted for product specified. Request permission to purchase on open market.

JE-52: Recommend rejection of alternate product from AmSan of Florida. AmSan of Florida requested withdrawal of their bid due to a pricing error. Recommend acceptance of next low bid from Pyramid Products.

JE-73: Recommend rejection of alternate product from Grainger. Grainger requested withdrawal of their bid for this item due to a pricing error. Recommend acceptance of next low bid from Peninsular Paper Company.

JE-94: Recommend rejection of alternate products for failure to submit sample as specified in the bid documents. Request permission to purchase on open market.

Offers from the vendors listed here in are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

**Bids Evaluated By: Eddie Flicker, Custodial Coordinator
Janitorial Products Committee (on file in the Purchasing Dept.)**

Bids Prepared By: Gail Fowler, CPPB Buyer

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		AFP Industries, Inc.		AmSan Florida		Buckeye Cleaning Center		Civic Enterprises, Inc.		Colonial Paper Co., Inc.		E & R Industrial Sales, Inc.	
BID TITLE: JANITORIAL EQUIPMENT		P.O. Box 43-0747		3031 N. Andrews Ave Ext		9328 Florida Palm Drive		P.O. Box 1038		P.O. Box 310		11838 62nd Street N.	
BID #07-003-GF		South Miani, FL 33243-0747		Pompano Beach, FL 33064		Tampa, FL 33619		West Monroe, LA 71294		Silver Springs, FL 34489		Largo, FL 33773	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-01	PUSH BROOMS (60) (Alternate)	NB	NB	NB	NB			NB	NB			18.02	1,081.20
						18.50	1,110.00			13.69	821.40		
						Wilco F004036/M101060				Continental F004036			
JE-06	THERMOMETERS (600) (Alternate)	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	3.51	2,106.00
JE-07	BENCH/COUNTER BRUSH (240) (Alternate)	2.78	667.20	2.87	674.40	2.96	710.40	NB	NB	2.64	633.60	9.11	2,186.40
		Wilco EA08208		Rubbermaid 9B2700		Wilco E408208				Continental E408208		Osborn 54003	
JE-12	DUST PAN (360) (Alternate)	2.08	748.80	2.81	1,011.60	2.06	741.60	NB	NB	1.94	698.40	2.50	900.00
		Continental 715				Continental 715				Continental 712		Impact 4212	
JE-17	CARBAGE CAN DOLLIES (240) (Alternate)	18.42	4,420.80			21.29	5,109.60	NB	NB	18.65	4,476.00		
				23.81	5,714.40							22.81	5,474.40
				Rubbermaid 2640								Rubbermaid 2640	
JE-18	MOP BUCKETS (120) (Alternate)	21.28	2,553.60			24.59	2,950.80	NB	NB	21.54	2,584.80		
				29.76	3,571.20							29.90	3,588.00
				White 2635-3								Rubbermaid 7570-88	
JE-19	WET MOP HANDLES (360) (Alternate)	6.21	2,235.60	NB	NB	7.18	2,584.80	NB	NB	6.29	2,264.40	NB	NB
JE-20	MOP WRINGER (120) (Alternate)	23.48	2,817.60	30.97	3,716.40	27.11	3,253.20	NB	NB	23.76	2,851.20	27.70	3,324.00
JE-22	VACUUM BAGS (1000) (Alternate)	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	11.17	11,170.00
JE-24	PUMP UP SPRAYER (100) (Alternate)	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB
										30.67	3,067.00		
										RL Flo-Master 1996VI			
JE-25	SQUEEGEES (480) (Alternate)	NB	NB			9.69	4,651.20	NB	NB	NB	NB	8.25	3,960.00
				Impact 6234								Unger GS350	

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		AFP Industries, Inc.		AmSan Florida		Buckeye Cleaning Center		Civic Enterprises, Inc.		Colonial Paper Co., Inc.		E & R Industrial Sales, Inc.	
BID TITLE: JANITORIAL EQUIPMENT		P.O. Box 43-0747		3031 N. Andrews Ave Ext		9328 Florida Palm Drive		P.O. Box 1038		P.O. Box 310		11838 62nd Street N.	
BID #07-003-GF		South Miani, FL 33243-0747		Pompano Beach, FL 33064		Tampa, FL 33619		West Monroe, LA 71294		Silver Springs, FL 34489		Largo, FL 33773	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-27	MULTI-FOLD TOWEL HOLDER (120)	14.78	1,773.60			15.51	1,861.20	NB	NB	13.89	1,666.80		
	(Alternate)			18.19	2,182.80							16.35	1,962.00
				Impact 4090W								Impact 4090W	
JE-30	TOILET BOWL BRUSH (120) REJECT							NB	NB			3.02	362.40
	(Alternate)	1.56	187.20	1.97	236.40	1.75	210.00			1.52	182.40		
		Wilco J503001		Carlisle 36P5		Wilco J503001				Wilco J503001			
JE-31	WASTEBASKET (1,200)			4.47	5,364.00			NB	NB			4.00	4,800.00
	(Alternate)	3.78	4,536.00			4.38	5,256.00			3.84	4,608.00		
		Continental 4114BN				Continental 4114				Continental 4114BN			
JE-33	DISPENSER PUMP (300)	1.38	414.00			1.42	426.00	NB	NB	1.43	429.00		
	(Alternate)			2.18	654.00							1.57	471.00
				Impact 904A								Impact 904	
JE-34	BUCKETS (360)	3.75	1,350.00					NB	NB	3.72	1,339.20		
	(Alternate)			3.09	1,112.40	2.90	1,044.00					3.29	1,184.40
				Rubbermaid 2963		Tolco 280161						Impact 5502	
JE-38	LAMBSWOOL DUSTER (200)	NB	NB	5.51	1,102.00			NB	NB	NB	NB	5.21	1,042.00
	(Alternate)					4.32	864.00						
						Tolco 280123							
JE-40	SANITARY TOOL (240)	NB	NB					9.28	2,227.20	NB	NB		
	(Alternate)			24.83	5,959.20	18.82	4,516.80					18.33	4,399.20
				Unger NN140		Tolco #280224						Impact 6210	
JE-41	MICROFIBER CLOTHS(3000)REJECT			NB	NB	NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)	1.47	4,410.00										
		TXF Products CHL-1616C											
JE-45	MOP HEAD, WET 16 OZ. (120)	4.68	561.60	NB	NB	5.07	608.40	NB	NB	4.54	544.80	6.61	793.20
	(Alternate)												
JE-46	MOP HEAD, WET 24 OZ. (480)	7.05	3,384.00	NB	NB	8.16	3,916.80	NB	NB	7.30	3,504.00	10.88	5,222.40
	(Alternate)												
JE-47	MICROFIBER HEAD (480) REJECT	NB	NB	NB	NB			NB	NB	NB	NB		
	(Alternate)					8.15	3,912.00					9.20	4,416.00
						Wilco C106020						Rubbermaid Q800	

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		AFP Industries, Inc.		AmSan Florida		Buckeye Cleaning Center		Civic Enterprises, Inc.		Colonial Paper Co., Inc.		E & R Industrial Sales, Inc.	
BID TITLE: JANITORIAL EQUIPMENT		P.O. Box 43-0747		3031 N. Andrews Ave Ext		9328 Florida Palm Drive		P.O. Box 1038		P.O. Box 310		11838 62nd Street N.	
BID #07-003-GF		South Miani, FL 33243-0747		Pompano Beach, FL 33064		Tampa, FL 33619		West Monroe, LA 71294		Silver Springs, FL 34489		Largo, FL 33773	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-52	COBWEB DUSTER (240)	3.98	955.20			3.98	955.20	NB	NB	3.76	902.40		
	(Alternate)			1.34	321.60							7.65	1,836.00
				Carlisle 365450								Impact #3120	
JE-53	FLOOR SQUEEGE WITH HANDLE (120)	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	22.78	2,733.60
	(Alternate)												
JE-58	LOBBY DUST PAN (120)	17.07	2,048.40			19.75	2,370.00	NB	NB	17.31	2,077.20		
	(Alternate)			21.11	2,533.20							19.15	2,298.00
				Impact 2604								Impact 2604	
JE-59	TEFLON COATED SPONGE (1,500)	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	29.12	43,680.00
	(Alternate)												
JE-60	REPLACEMENT PUMP (50)	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	24.82	1,241.00
	(Alternate)												
JE-63	ANGLE POLY BROOM (1200)	5.38	6,456.00			5.25	6,300.00	NB	NB	4.78	5,736.00	NB	NB
	(Alternate)			9.09	10,908.00								
				Carlisle 36070100									
JE-67	SWIVEL HEAD BRUSH (120)	15.88	1,905.60			17.20	2,064.00	NB	NB	NB	NB	22.82	2,738.40
	(Alternate)			23.93	2,871.60								
				Carlisle 3965									
JE-71	REPLACEMENT PUMP JE-69 (240)	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	27.55	6,612.00
	(Alternate)												
JE-72	REPLACEMENT VIEW WINDOW (500)	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	2.65	1,325.00
	(Alternate)												
JE-73	JANITORIAL CART (60)			85.93	5,155.80			NB	NB			74.78	4,486.80
	(Alternate)	73.38	4,402.80			77.59	4,655.40			67.79	4,067.40		
		Continental 184				Continental 184G4				Continental 184			
JE-74	FLOOR PADS 27" (60)							NB	NB				
	(Alternate)	9.64	578.40	47.45	2,847.00	13.10	786.00			11.65	699.00	35.00	2,100.00
		Americo 402027		Renown/3M 02106		Tiger Pads #23626				Glit #23626		Betco 84627	

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		AFP Industries, Inc.		AmSan Florida		Buckeye Cleaning Center		Civic Enterprises, Inc.		Colonial Paper Co., Inc.		E & R Industrial Sales, Inc.	
BID TITLE: JANITORIAL EQUIPMENT		P.O. Box 43-0747		3031 N. Andrews Ave Ext		9328 Florida Palm Drive		P.O. Box 1038		P.O. Box 310		11838 62nd Street N.	
BID #07-003-GF		South Miani, FL 33243-0747		Pompano Beach, FL 33064		Tampa, FL 33619		West Monroe, LA 71294		Silver Springs, FL 34489		Largo, FL 33773	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-64	FLOOR PADS 20" (120)	15.28	1,833.60	NB	NB	21.18	2,541.60	NB	NB	NB	NB		
	(Alternate)											23.10	2,772.00
												Betco 84570	
JE-68	FLOOR PADS 13" (120)	8.08	969.60	NB	NB			NB	NB	NB	NB		
	(Alternate)					11.71	1,405.20					12.02	1,442.40
						Tiger Pads #43213						Betco 84563	
JE-92	FLOOR PADS 27" (120)							NB	NB				
	(Alternate)	9.64	1,156.80	46.55	5,586.00	12.44	1,492.80			11.06	1,327.20	34.95	4,194.00
		Americo 402127		Renown/3M 02096		Tiger Padds 29757				Glit #29757		Betco 84433	
JE-94	POLY BROOM (240) REJECT	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)												
JE-103	20" FLAT MOP ASSEMBLY (240)			NB	NB			NB	NB	NB	NB		
	(Alternate)	16.56	3,974.40			18.50	4,440.00					23.30	5,592.00
		Wilco C714000/C717018				Wilco C71400/C717018						Rubbermaid Q760/Q560	
JE-104	20" FLAT MOP HEAD (1,200)			NB	NB			NB	NB	NB	NB		
	(Alternate)	4.88	5,856.00			5.45	6,540.00					9.54	11,448.00
		Wilco C103020				Wilco C103020						Rubbermaid Q416	

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		Genesis II, Inc.		W. W. Grainger, Inc.		K & S Vacuums & Janitorial		MSC		Namco of Tampa Bay		Peninsular Paper Co	
BID TITLE: JANITORIAL EQUIPMENT		P.O. Box 11226		12579 49th St. N.		2229 N., Citrus Blvd		2186 Drew St.		8408 N. Grady Ave		5101 E. Hanna Ave	
BID #07-003-GF		Rock Hill, SC 29731		Clearwater, FL 33762		Leesburg, FL 34748		Clearwater, FL 33765		Tampa, FL 33614		Tampa, FL 33610	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-01	PUSH BROOMS (60) (Alternate)	15.38	922.80	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB
			Hamburg 27041										
JE-06	THERMOMETERS (600) (Alternate)	NB	NB			NB	NB	NB	NB	NB	NB	NB	NB
				3.12	1,872.00								
				Taylor 5925 2T704									
JE-07	BENCH/COUNTER BRUSH (240) (Alternate)	3.19	765.60	3.69	885.60	NB	NB	NB	NB	NB	NB	NB	NB
			Marino A8206M	Weiler 44003 1A849									
JE-12	DUST PAN (360) (Alternate)	2.19	788.40	2.30	828.00			NB	NB	NB	NB	1.84	662.40
			Continental 715			3.45	1,242.00					Continental Mfg. 715	
JE-17	CARBAGE CAN DOLLIES (240) (Alternate)	18.56	4,454.40	45.00	10,800.00	18.95	4,548.00	20.00	4,800.00	NB	NB	18.91	4,538.40
			Impact 7704	Rubbermaid 2640-43		Impact 7704							
JE-18	MOP BUCKETS (120) (Alternate)	24.62	2,954.40	32.30	38,824.60	24.45	2,934.00	20.00	2,400.00	NB	NB	21.84	2,620.80
			Genesis 10102	Rubbermaid 7570-88		Impact 2635-3							
JE-19	WET MOP HANDLES (360) (Alternate)	6.67	2,401.20	NB	NB	NB	NB	NB	NB	NB	NB	6.67	2,401.20
JE-20	MOP WRINGER (120) (Alternate)	23.48	2,817.60	43.98	5,277.60	26.75	32,635.00	26.00	3,120.00	NB	NB	23.94	2,872.80
			Genesis 10104	Rubbermaid 6127-88		Impact 6000							
JE-22	VACUUM BAGS (1000) (Alternate)	8.46	8,460.00	24.00	24,000.00	NB	NB	NB	NB	NB	NB	NB	NB
			APC Jan-PTMV 2(10)										
JE-24	PUMP UP SPRAYER (100) (Alternate)	31.60	3,160.00	42.09	4,209.00	55.35	5,535.00	NB	NB	NB	NB	32.98	3,298.00
			RL Flowmaster 1996VI	Chapin 2235 3ZC31		Impact 7522						RL Flomaster 996-VI	
JE-25	SQUEEGEES (480) (Alternate)	6.34	3,043.20	NB	NB	8.41	4,036.80	NB	NB	NB	NB	NB	NB
			Pulex PXT35014			Impact 6234							

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		Genesis II, Inc.		W. W. Grainger, Inc.		K & S Vacuums & Janitorial		MSC		Namco of Tampa Bay		Peninsular Paper Co	
BID TITLE: JANITORIAL EQUIPMENT		P.O. Box 11226		12579 49th St. N.		2229 N., Citrus Blvd		2186 Drew St.		8408 N. Grady Ave		5101 E. Hanna Ave	
BID #07-003-GF		Rock Hill, SC 29731		Clearwater, FL 33762		Leesburg, FL 34748		Clearwater, FL 33765		Tampa, FL 33614		Tampa, FL 33610	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-52	COBWEB DUSTER (240)	4.47	1,072.80			NB	NB	NB	NB	NB	NB	3.79	909.60
	(Alternate)			13.29	3,189.60								
				Rubbermaid Q830									
JE-53	FLOOR SQUEEGE WITH HANDLE (120)					NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)	13.92	1,670.40	19.96	2,395.20								
		Marino FS30HB/FH254H		Unger HM750/AL140									
JE-58	LOBBY DUST PAN (120)	17.88	2,145.60			NB	NB	21.43	2,571.60	NB	NB	17.54	2,104.80
	(Alternate)	(Minimum order 120 each)		22.74	2,728.80								
				White #64 5W640									
JE-59	TEFLON COATED SPONGE (1,500)	0.69	1,035.00	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)												
JE-60	REPLACEMENT PUMP (50)	24.79	1,239.50	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)												
JE-63	ANGLE POLY BROOM (1200)					NB	NB	NB	NB	NB	NB	4.77	5,724.00
	(Alternate)	3.42	4,104.00	5.36	6,432.00								
		Greenwood 517		Weiler #96368 #3BE88									
JE-67	SWIVEL HEAD BRUSH (120)					NB	NB	NB	NB	NB	NB	15.57	1,868.40
	(Alternate)	9.87	1,184.40	18.50	2,220.00								
		Genesis 60702W		Flo-Pac 365310 3U780									
JE-71	REPLACEMENT PUMP JE-69 (240)	25.15	6,036.00	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)												
JE-72	REPLACEMENT VIEW WINDOW (500)	2.95	1,475.00	NB	NB	NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)												
JE-73	JANITORIAL CART (60)			5.16	309.60			81.00	4,860.00	NB	NB		
	(Alternate)	66.58	3,994.80			74.00	4,440.00					66.26	3,975.60
		Genesis 10501		Impact 6850								Continental Mfg. 184GY	
JE-74	FLOOR PADS 27" (60)			55.00	3,300.00	29.80	1,788.00	NB	NB	NB	NB		
	(Alternate)	10.07	604.20									28.56	1,713.60
		Americo 402027										Norton 05151	

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		Genesis II, Inc.		W. W. Grainger, Inc.		K & S Vacuums & Janitorial		MSC		Namco of Tampa Bay		Peninsular Paper Co	
BID TITLE: JANITORIAL EQUIPMENT		P.O. Box 11226		12579 49th St. N.		2229 N., Citrus Blvd		2186 Drew St.		8408 N. Grady Ave		5101 E. Hanna Ave	
BID #07-003-GF		Rock Hill, SC 29731		Clearwater, FL 33762		Leesburg, FL 34748		Clearwater, FL 33765		Tampa, FL 33614		Tampa, FL 33610	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-64	FLOOR PADS 20" (120)			NB	NB	NB	NB	NB	NB	NB	NB		
	(Alternate)	15.73	1,887.60									16.86	2,023.20
		Americo 430520										Norton 14194	
JE-68	FLOOR PADS 13" (120)			NB	NB	NB	NB	NB	NB	NB	NB		
	(Alternate)	8.54	1,024.80									8.66	1,039.20
		Americo 430513										Norton 14187	
JE-92	FLOOR PADS 27" (120)					NB	NB	NB	NB	NB	NB		
	(Alternate)	10.07	1,208.40	14.27	1,712.40							24.18	2,901.60
		Americo 402127		Ball #13527 4RY59								Norton 19283	
JE-94	POLY BROOM (240) REJECT					NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)	4.18	1,003.20	3.98	955.20								
		Greenwood 510		Rubbermaid 6374 5W638									
JE-103	20" FLAT MOP ASSEMBLY (240)			NB	NB	NB	NB	NB	NB	21.35	5,124.00	NB	NB
	(Alternate)	11.20	2,688.00										
		Texas Fthr. HXH-0060B-C											
JE-104	20" FLAT MOP HEAD (1,200)			NB	NB	NB	NB	NB	NB	5.70	6,840.00	NB	NB
	(Alternate)	3.78	4,536.00										
		Texas Fthr. MWH-1804B-C											
						*Min. Order Impact Combined \$2,000							

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		Pride enterprises, Inc.		Pyramid School Products		Resource One, Inc		TBS Commercial Building	
BID TITLE: JANITORIAL EQUIPMENT		12425 28 St. N		6510 North 54th St.		1202 N. Magnolia Ave		197 Blacksmill Ct.	
BID #07-003-GF		St. Petersburg, FL 33716		Tampa, FL 33610		Ocala, FL 34475		Dawsonville, GA 30534	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-01	PUSH BROOMS (60)			19.96	1,197.60	NB	NB	20.55	1,233.00
	(Alternate)	11.20	672.00	(Min. order is 60 each)					
		ABCO BH-11009							
JE-06	THERMOMETERS (600)	NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)								
JE-07	BENCH/COUNTER BRUSH (240)					NB	NB		
	(Alternate)	3.37	808.80	3.82	916.80			4.75	1,140.00
		ABCO 00102		Zimco (Carlisle) 36250				Carlisle 36250	
JE-12	DUST PAN (360)					NB	NB		
	(Alternate)	2.20	792.00	1.78	640.80			3.95	1,422.00
		Impact 4212		Continental 715				Carlisle 36236	
JE-17	CARBAGE CAN DOLLIES (240)			18.45	4,428.00	NB	NB	NB	NB
	(Alternate)	17.50	4,200.00						
		Impact 7704							
JE-18	MOP BUCKETS (120)			21.21	2,545.20	NB	NB	NB	NB
	(Alternate)	22.00	2,640.00						
		Impact 2635-3							
JE-19	WET MOP HANDLES (360)			6.35	2,286.00	NB	NB	NB	NB
	(Alternate)	4.90	1,764.00						
		ABCO 01206NB							
JE-20	MOP WRINGER (120)			23.51	2,821.20	NB	NB		
	(Alternate)	26.50	3,180.00					47.85	5,742.00
		Impact 6000						Rubbermaid #6127Y	
JE-22	VACUUM BAGS (1000)	NB	NB	NB	NB	NB	NB	8.40	8,400.00
	(Alternate)								
JE-24	PUMP UP SPRAYER (100)	NB	NB	43.09	4,309.00	NB	NB	NB	NB
	(Alternate)			(Min order is 100 each)					
JE-25	SQUEEGEES (480)	NB	NB			NB	NB	NB	NB
	(Alternate)			2.92	1,401.60				
				Pulex PXT61435					

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		Pride enterprises, Inc.		Pyramid School Products		Resource One, Inc		TBS Commercial Building	
BID TITLE: JANITORIAL EQUIPMENT		12425 28 St. N		6510 North 54th St.		1202 N. Magnolia Ave		197 Blacksmill Ct.	
BID #07-003-GF		St. Petersburg, FL 33716		Tampa, FL 33610		Ocala, FL 34475		Dawsonville, GA 30534	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-52	COBWEB DUSTER (240)	NB	NB	3.52	844.80	NB	NB	NB	NB
	(Alternate)								
JE-53	FLOOR SQUEEGE WITH HANDLE (120)			NB	NB	NB	NB		
	(Alternate)	20.14	2,416.80					21.95	2,634.00
		Abco BH-14008						Unger HM750/AL140	
JE-58	LOBBY DUST PAN (120)			17.29	2,074.80	NB	NB	NB	NB
	(Alternate)	17.88	2,145.60						
		Impact 2604							
JE-59	TEFLON COATED SPONGE (1,500)	NB	NB	0.59	885.00	NB	NB	NB	NB
	(Alternate)								
JE-60	REPLACEMENT PUMP (50)	NB	NB	26.98	1,349.00			NB	NB
	(Alternate)					30.25	1,512.50		
						JE60			
JE-63	ANGLE POLY BROOM (1200)			4.78	5,736.00	NB	NB	NB	NB
	(Alternate)	2.78	3,336.00						
		Abco 00402-12UPC							
JE-67	SWIVEL HEAD BRUSH (120)			15.19	1,822.80	NB	NB	NB	NB
	(Alternate)	3.19	382.80						
		Abco 00026H-12							
JE-71	REPLACEMENT PUMP JE-69 (240)	NB	NB	24.34	5,841.60	29.50	7,080.00	NB	NB
	(Alternate)								
JE-72	REPLACEMENT VIEW WINDOW (500)	NB	NB	2.35	1,175.00	3.25	1,625.00	NB	NB
	(Alternate)								
JE-73	JANITORIAL CART (60)			67.99	4,079.40	NB	NB	115.25	6,915.00
	(Alternate)	75.50	4,530.00						
		Impact 6850							
JE-74	FLOOR PADS 27" (60)	NB	NB			NB	NB		
	(Alternate)			9.57	574.20			11.20	672.00
				Americo 402027				Americo 402027	

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF OPENING: APRIL 5, 2006 2:30 PM		Pride enterprises, Inc.		Pyramid School Products		Resource One, Inc		TBS Commercial Building	
BID TITLE: JANITORIAL EQUIPMENT		12425 28 St. N		6510 North 54th St.		1202 N. Magnolia Ave		197 Blacksmill Ct.	
BID #07-003-GF		St. Petersburg, FL 33716		Tampa, FL 33610		Ocala, FL 34475		Dawsonville, GA 30534	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
JE-64	FLOOR PADS 20" (120)	NB	NB	15.21	1,825.20	NB	NB	15.87	1,904.40
	(Alternate)								
JE-68	FLOOR PADS 13" (120)	NB	NB	8.07	968.40	NB	NB	9.50	1,140.00
	(Alternate)								
JE-92	FLOOR PADS 27" (120)	NB	NB			NB	NB		
	(Alternate)			9.58	1,149.60			11.20	1,344.00
				Americo 402127				Americo 402127	
JE-94	POLY BROOM (240) REJECT	NB	NB	NB	NB	NB	NB	NB	NB
	(Alternate)								
JE-103	20" FLAT MOP ASSEMBLY (240)			NB	NB	NB	NB	NB	NB
	(Alternate)	5.94	1,425.60						
		Abco DM30118							
JE-104	20" FLAT MOP HEAD (1,200)			NB	NB	NB	NB	NB	NB
	(Alternate)	1.78	2,136.00						
		Abco DM30318		* Minimum order for Wilen combined is \$1,500					
				** Minimum order for Rubbermaid Combined is \$2,700					